RESEARCH

Amalur EIS: a system for calculating the environmental impacts of industrial sites from E-PRTR records

Iñaki Sasia · Gorka Bueno · Iker Etxano



Received: 26 September 2024 / Accepted: 9 December 2024 / Published online: 11 January 2025 $\ensuremath{\mathbb{C}}$ The Author(s) 2025

Abstract This article presents Amalur EIS (https:// www.amalur-eis.eus/), an Environmental Information System that estimates environmental impacts using data sourced from the European Pollutant Release and Transfer Register database (E-PRTR). The system uses data on the releases into land, air and water of 31,556 European industrial facilities for the period 2007–2021. Amalur EIS calculates environmental impacts of industrial releases using 31 life cycle impact assessment methods (LCIA) and covering 78 of the 91 pollutants regulated by the PRTR Protocol. The system has been constructed using a two-layer

Supplementary Information The online version contains supplementary material available at https://doi. org/10.1007/s10661-024-13565-3.

I. Sasia (⊠) · G. Bueno · I. Etxano EKOPOL, Research Group On Ecological Economics and Political Ecology, Faculty of Social Sciences and Communication, University of the Basque Country (UPV/EHU), Sarriena S/N, 48940 Leioa, Basque Country, Spain

e-mail: jsasia001@ikasle.ehu.eus

G. Bueno e-mail: gorka.bueno@ehu.eus

I. Etxano e-mail: iker.etxano@ehu.eus

G. Bueno

Department of Electronics Engineering, Faculty of Engineering of Bilbao, University of the Basque Country (UPV/EHU), Torres Quevedo Ingeniaria Plaza, 1, 48013 Bilbao, Basque Country, Spain software infrastructure: (i) a data layer supported by a relational database built in Postgres and (ii) a presentation layer built in Tableau, so it provides userfriendly access to the information. For an illustrative analysis of the tool, the EF 3.0 LCIA method recommended by the European Commission was used, including normalisation and weighting steps for a better comparison. The analysis concludes that the *climate change* impact category contributes the most (68.6%) to the total impacts, while the largest contributor from an economic activity perspective is the energy sector (59.5%). Geographically, both elements coincide in the German regions of Düsseldorf, Köln and Brandenburg, resulting in the concentration of the largest impacts at the European regional level. In

G. Bueno · I. Etxano

HEGOA, Institute of Development Studies and International Cooperation, University of the Basque Country (UPV/EHU), Zubiria Etxea, Avda. Lehendakari Agirre 81, 48015 Bilbao, Basque Country, Spain

I. Etxano

Department of Applied Economics, Faculty of Social Sciences and Communication, University of the Basque Country (UPV/EHU), Sarriena S/N, 48940 Leioa, Basque Country, Spain fact, Germany is the country with the highest impact (20.3% of total). Beyond this analysis, Amalur EIS is poised to be a valuable tool for tracking the transition towards sustainability, particularly in Europe.

Keywords Amalur EIS · PRTR · LCIA · Environmental impact · Industrial activity

Introduction

Pollutant Release and Transfer Registers (PRTR) respond to the imperative of ensuring public access to information on environmental pollution. Their implementation is bolstered by various organisations and international agreements, aiming to collect and disseminate crucial information on the release and transfer of pollutants. The inaugural registry, the Toxics Release Inventory (TRI) (United States Environmental Protection Agency, 2023), emerged in the USA in 1986 following the catastrophic Bhopal disaster of 1984, one of the deadliest industrial incidents in history (Broughton, 2005; Varma & Varma, 2005). Key players such as the Organisation for Economic Co-operation and Development (OECD, 2023) and United Nations Conference on Environment and Development (UNCED) have played pivotal roles in the development and implementation of PRTRs. The OECD produced a guidance manual in 1996 (OECD, 1996), defining PRTRs as registries of releases and transfers of potentially harmful pollutants. The PRTR Protocol was adopted at an extraordinary meeting of the Parties to the Aarhus Convention in May 2003 and was signed by 36 countries and the European Community (UNECE, 1998). Supported by UNCED, this protocol has further promoted the implementation of PRTRs at the international level. Several countries have established national PRTR systems following the recommendations of UNCED and the OECD.

Alongside to the implementation of the PRTR Protocol, the European Union (EU) developed its own register, the European Pollutant Emission Register (EPER), regulated by Decision 2000/479/EC (European Commission, 2000), which evolved into the European Pollutant Release and Transfer Register (E-PRTR) in 2006 by the adoption of Regulation (EC) number 166/2006 (European Union, 2006). It was approved by the EU in February 2006, becoming the second party to sign the PRTR Protocol, after Luxembourg. Covering 65 economic activities across Europe, the E-PRTR has been collecting comprehensive data on pollutant releases since 2007 and integrating it into the European Industrial Emissions Portal (European Environment Agency, 2023a). The E-PRTR establishes a list of 91 pollutants that certain industrial complexes and agricultural activities meeting specific size and activity criteria—around 35,000 installations—are required to report annually above certain emission or waste transfer quantities. The E-PRTR has improved its performance over the years to become a reliable and consistent database, despite difficulties such as systematising the reporting process, lack of information and occasional errors (Bünger, 2010; Dios et al., 2014; Kolominskas & Sullivan, 2004).

While PRTRs do not directly regulate emissions, they do exert pressure on companies to reduce pollution, creating incentives for emission reduction. Hamilton (1995) and Khanna et al. (1998) identified significant impacts when examining investor reactions to the public disclosure of TRI environmental information. Market penalties were also observed for firms with the highest levels of pollution in the EPER (Cañón-de-Francia et al., 2008), although only some emissions are directly regulated by the EU (e.g. CO₂) emissions). Nonetheless, pollution datasets such as the E-PRTR do exert pressure on companies that want to avoid being identified as big polluters (Cañón-de-Francia et al., 2008; Hamilton, 1995; Khanna et al., 1998) and allow governments and interest groups to participate in decision-making and advocate for cleaner practises (Fikru, 2011; Zuo & Wheeler, 2019).

Public access to information on pollutant releases and transfers has become a pivotal tool for promoting transparency and accountability globally. PRTRs, epitomised by the E-PRTR, play a crucial role in pollution prevention and reduction, safeguarding the environment and human health on an international scale. The scientific literature includes studies on the use of PRTR registers in various geographic areas, such as the USA (Gouldson et al., 2015; Hamilton, 1995; Khanna et al., 1998; Koh et al., 2016; Thant Zin & Lim, 2023), Japan (Nguyen et al., 2021), Australia (Zuo & Wheeler, 2019), Europe (Assen et al., 2016; Bünger, 2010; Cañón-de-Francia et al., 2008; Fikru, 2011; Kolominskas & Sullivan, 2004; Pistocchi et al., 2019; Shaddick et al., 2018) and within it, Austria (Rüttenauer, 2018), Sweden (Nordborg et al., 2017; Sörme et al., 2016), Spain (Fernández-Navarro et al., 2017; García-Pérez et al., 2013) and its region of Galicia (Dios et al., 2012, 2014).

PRTR databases have been used to evaluate different ways in which pollution impacts the environment (Dios et al., 2012). Several studies evaluate its impact on human health: Shaddick et al. (2018) evaluate the health impact of pollution from landfills; Fernández-Navarro et al. (2017) analyse the role of air pollution on cancer; García-Pérez et al. (2013) analyse cancer mortality in populations close to incinerators and hazardous waste recovery or disposal facilities. Some studies focus their analyses on raw emissions data (Dios et al., 2012), or other environmental impacts. Assen et al. (2016) use E-PRTR records to determine the environmental impacts of CO_2 capture, while Pistocchi et al. (2019) quantify river pollution. Other studies focus their work on toxicological footprints. Sörme et al. (2016) calculate the national chemical footprint of Sweden. Koh et al. (2016) analyse the toxicological footprint for the chemicals in the TRI release. Nguyen et al. (2021) conduct an analysis of toxicological footprint changes in Japanese industrial sectors, and Erhart and Erhart (2022) provide a Swedish human toxicity and ecotoxicity footprint analysis, complemented with an environmental ranking of European industrial facilities by toxicity and global warming potentials (Erhart & Erhart, 2023). E-PRTR records have also been used to investigate the extent of environmental inequality related to industrial air pollution in Austria (Neier, 2021).

Through the European Industrial Emissions portal (European Environment Agency, 2023a), the flows of pollutants emitted by industries reporting to E-PRTR can be consulted from various analytical perspectives. However, the E-PRTR does not offer a direct translation of these simple metrics in kg units to complex indicators in units such as kgCO₂eq, CTUe or molH⁺eq, linked to the different environmental impact (EI) categories established by the numerous existing life cycle impact assessment (LCIA) methods. Several studies have made progress in quantifying impacts. Nguyen et al. (2021) and Koh et al. (2016) employ a *toxicological footprint* indicator, which is just the sum of masses of the different pollutants, without applying a toxicity factor. This drawback has been solved by some others (Nordborg et al., 2017; Sörme et al., 2016) that apply characterisation factors from the USEtox LCIA method in their calculations of Sweden's chemical footprints. Thant Zin and Lim (2023) propose MECPRIA, a methodology to evaluate the toxicity of PRI pollutant releases, which is an alternative to quantity-based (Koh et al., 2016) and LCIA-based (Sörme et al., 2016) methodologies. When using LCIA methods, they also rely on the USEtox LCIA method. Very recently, the EEA has estimated the external costs of industrial air pollution trends (2012–2021) from E-PRTR facilities, calculating the marginal damage cost on human health due to pollutants (European Environmental Agency, 2024). A report by Mawdsley et al. (2016) commissioned by the Swedish Environmental Protection Agency also identified the use of weighted aggregations to properly account for pollutant impacts, such as toxicities, as a central issue.

Amalur EIS has been developed with the aim of advancing in the translation of pollutant emissions into the quantification of impacts (*Amalur* means *Mother Earth* in Basque language). It is an Environmental Information System (EIS) with which to calculate the EI of the emissions gathered in the E-PRTR for the different impact categories proposed by several LCIA methods, such as follows:

- BEES + (NIST, 2023)
- CML-IA [Baseline] [Non-baseline] (CML, 2023)
- Crustal Scarcity Indicator (Arvidsson et al., 2020)
- Cumulative [Energy Demand] [Energy Demand (LHV)] [Exergy Demand] (Hischier et al., 2010)
- Ecological Scarcity 2013 (Frischknecht & Knöpfel, 2014)
- EDIP 2003 (Danish Ministry of the Environment, 2005)
- EF Method (Adapted) [2.0] [3.0] (Joint Research Centre, 2023)
- EN 15804 + A2 Method (EPLCA, 2023a)
- Environmental Prices (CE Delft, 2023)
- EPD 2018 (EPD International, 2023)
- EPS 2015 [D] [DX] (IVL, 2023)
- ILCD 2011 Midpoint+(EPLCA, 2023b; JRC, 2012)
- Impact 2002 + (Jolliet et al., 2003)
- IPCC [2013] [2021 AR6] (Forster et al., 2021)
- ReCiPe 2016 [Midpoint (E)(H)(I)] [Endpoint (E) (H)(I)] (Huijbregts, 2016)
- Selected LCI [Results] [Results, Additional] (Hischier et al., 2010)
- TRACI 2.1 (J. Bare, 2011; J. C. Bare et al., 2002)

• USEtox 2 [Recommended Only] [Recommended + Interim] (Rosenbaum et al., 2011)

These LCIA methods provide diverse geographic, sectoral and impact-specific perspectives, making assessments more comprehensive and regionally relevant. Methods like BEES+and TRACI 2.1 are tailored to North American priorities, while EF aligns with European standards and regulation. Some methods offer a broad scope of impacts, like CML-IA, ILCD, EF and ReCiPe, which cover multiple categories. Others, such as IPCC for climate change and USEtox for toxicity, provide specialised analyses in their domains. Resource-focused methods (Crustal Scarcity Indicator, Ecological Scarcity 2013) and energy-demand metrics (cumulative energy and exergy demand) address specific sustainability issues, while economic-based approaches (Environmental Prices, EPS 2015) provide cost-focused insights. Endpoint approaches (EPS 2015, ReCiPe) offer aggregated results ideal for decision-making, while midpoint methods (CML-IA, ILCD, EF) provide detailed impact profiles. Using multiple methods enables cross-validation, which strengthens the results and reveals areas needing further analysis.

In each case, the EI contributions to air, water and land pollution are calculated by Amalur EIS, and for some pollutants, their release is also computed as resource depletion. There are other tools that also process PRTR data. For example, Overberg et al. (2023) developed a Python-based tool for data analysis and visualisation, and Dios et al. (2014) created a software tool for the validation of E-PRTR emissions data. Unlike these applications, Sörme et al. (2016) go a step further in their chemical footprint calculation by converting the emissions collected in the E-PRTR into categorised EIs. To our knowledge, it is the first published work that does so, although it only uses USEtox from among the various LCIA methods. To fill this gap, Amalur EIS provides a comprehensive set of LCIA methods and EIs, as indicated above, making it a robust and multidimensional tool. The conversion of emissions into environmental impacts represents a step forward in environmental information systems, as it facilitates the identification of impacts beyond pollutants through various indicators.

The primary objective of this work is to demonstrate the potential of Amalur EIS in estimating the environmental impacts of emissions from industrial facilities, providing ecological indicators that are not directly available from the raw data of PRTR records. The article is structured as follows: the "Methods and materials" section details the main design criteria used in developing the software; the "Results" section presents significant findings related to emission volumes, analysis by impact categories, sectors of activity and geographical scope; and the "Discussion and conclusions" section outlines and discusses the key contributions of Amalur EIS in the field of ecological indicators.

Materials and methods

Amalur EIS relies on a two-layer software infrastructure: a data layer supported by a relational database built in a Postgres (PostgreSQL, 2023) RDBMS (Relational DataBase Management System) and a presentation layer built in Tableau (Tableau, 2023) providing a UI (User Interface) to facilitate exploitation of the information.

Data layer construction process

The process of building the data layer required the prior design of an ERM (entity relationship model) to house all the data necessary to meet the desired informational objectives. Subsequently, this ERM was physically implemented in a Postgres RDBMS to finally perform the corresponding data ingestion from the starting sources, essentially E-PRTR and LCIA methods in openLCA format.

Emissions in E-PRTR

E-PRTR v18 is a relational database implemented in a Microsoft Access v2016 RDBMS that can be downloaded from the (European Environment Agency, 2023b). Using SQL (Structured Query Language) code, queries (views, logical tables) are generated that fit directly into the physical table structure built in Postgres. Thus, the information incorporated into Amalur EIS in this phase is simply a list of all the emissions reported by the industrial complexes over the years 2007–2021 (hereafter, years always refer to years of pollutant emissions and not to their being reported several years later). The database also processes diffuse air emissions for the year 2008,

Page 5 of 23 163

currently the only year available for said emissions in the E-PRTR. A more detailed analysis of these diffuse emissions is reserved for a future publication. At present, the database does not include information on off-site transfers of waste, but its structure is designed to accommodate such data in future extensions of the tool.

The only significant problem encountered in this implementation phase is that practically one third of the industrial complexes located on land, as well as all those located offshore, have their NUTS field empty. Since this will be a critical field when carrying out impact analysis from a geographical perspective, we succeeded in solving this problem by intersecting the E-PRTR layer of points (lat, long) of industrial complexes with the polygon layer of NUTS regions (Eurostat, 2023). The result of the corresponding spatial overlap query is as follows:

- Onshore facilities (93.6%) inherit the NUTS code of the region that contains them (their distance to it will always be 0 km).
- Facilities in territorial waters (5.7%) inherit the NUTS code of the nearest land region (their distance to it will always be less than the 22.2 km equivalent to the 12 nautical miles established for the limit of international waters).
- Facilities in international waters (0.6%) are assigned a NUTS code linked to the generic Extra-Regio region of their corresponding country with code *zzz* (their distance to it will always be greater than 22.2 km).

Characterisation factors of LCIA methods

The characterisation factors (CF) of the LCIA methods considered were obtained from the *openLCA LCIA Methods* (v2.2.1) database, accessible through Nexus (2023). This resource is a relational database implemented in an Apache Derby v10 RDBMS, used by the openLCA software (Ciroth, 2007). Similar to the process described above, a selection of its data is imported into the physical table structure built for Amalur EIS. In this case, the information incorporated into the system is related to issues such as LCIA methods and their impact categories, elementary flows and what is needed to quantify their impact in terms of the environment, equivalent units of measurement, etc.

In the process of preparing the data in Apache Derby for subsequent ingestion into the final Postgres repository, no significant problems were found. The most significant issue that arose is that some elementary flows have slightly different names in different LCIA methods, sometimes such minor details as the use of a hyphen, a space or a comma and the use of upper- or lower-case letters. These instances have required specific handling when loading characterisation factors into Amalur EIS.

The Table SM1 "Characterisation factors" provided in the Supplementary Material presents the complete list of pollutants included in the E-PRTR protocol, with their corresponding characterisation factor for each medium and each impact category of the Environmental Footprint (EF) 3.0 LCIA method.

The union of emissions and environmental impacts in Amalur EIS

Amalur EIS v2024 is a relational database implemented in a Postgres v15 RDBMS. As explained, it hosts a set of tables linked to the E-PRTR domain and another set of tables linked to the LCIA methods domain. In addition, it includes a third set of ad hoc built-in tables that close the unified ERM by linking the two previous domains. These linking tables constitute a major contribution of this research and form the real heart of the system: they link every pollutant in the E-PRTR releases database with a specific elementary flow in each LCIA method, if its characterisation factor is available.

The LCIA methods characterise the elementary flows given in the life cycle assessment (LCA) methodology (ISO, 2006a, b) by means of characterisation factors based on three fundamental elements: pollutant, medium and environment.¹ Thus, to link the information contained in the E-PRTR domain with that provided by the LCIA methods domain, it

¹ Note: The three possible emission media are *air*, *land* or *water*. In addition, each medium may be associated with different environments: *high/low population density, lower/upper stratosphere* or *indoor* for the *air* medium; *forestry, agricultural* or *industrial* for the *land* medium and *surface water*, *ocean, lake, river* or *freshwater* for the *water* medium. open-LCA uses the terminology *category/sub-category* to refer to *medium/environment*, in the same way that Erhart and Erhart (2022) use that of *sub-compartment*.

is necessary to establish one-to-one relationships at these three levels between the table records of the two informational environments. The definition of such relationships at the database level was met with several problems that were finally resolved using the methodology detailed in the following sections.

Linking < E-PRTR pollutant > with < elementary flow from LCIA methods > The most obvious candidate, a priori, for a key to link the pollutants typed in E-PRTR with those included in the LCIA methods flows was the CAS number (Chemical Abstracts Service) (American Chemical Society, 2023). However, after an initial analysis, it was found that, although this field exists in the LCIA methods flow table, 10% of the records are missing this information. On the other hand, a considerable number of pollutants collected in E-PRTR are not assimilable to a specific CAS, such as halogenated organic compounds, chlorides or particulate matter, to name but a few. Thus, this double circumstance de facto rules out the potential use of the CAS as a binding key, making it necessary to define an artificial key for this purpose.

This key was established semi-automatically by implementing successive search processes that, cumulatively, have made it possible to link more and more records from both domains. Thus, in an initial approximation, all direct CAS matches between < E-PRTR pollutant > and < elementary flow from LCIA methods>were identified. As already known, this has only worked satisfactorily in simple cases such as that of methane, which is clearly typed in the E-PRTR as CH_4 and correctly labelled as 74– 82-8 in most of the LCIA method flows. Next, we searched for literal matches by name, again finding several matches in simple cases such as that of carbon dioxide. From there, it was necessary to conduct a multitude of further searches, this time guided by new criteria, no longer of literal matches but of mere similarity, and not only at name level but also at that of other possible labels such as chemical formula and acronym. Finally, a priority order was established so as to be able to choose a single characterisation factor (CF) in the case that several CF can be linked to the same emission registered in E-PRTR. The criterion used to establish this hierarchy was specific for each pollutant. In most cases, the hierarchy is irrelevant, since differences are simply due to name variations (Nonylphenol, NONYLPHENOL; Hydrocyanic acid, Hydrogen cyanide). In the case of Carbon monoxide, for example, the Carbon monoxide elementary flow was always chosen first, or otherwise the Carbon monoxide, fossil, or otherwise the Carbon monoxide, land transformation, or otherwise the Carbon monoxide, biogenic. In the case of metals, the approach proposed by Sörme et al. (2016) was adopted, taking the compound species with the highest CF (most toxic). Thus, for Chromium and compounds (as Cr), for example, the chosen hierarchy was Chromium, Chromium, ion, Chromium compounds and Chromium, unspecified. The same procedure was followed for other metals.

In any case, the result of this rigorous process was highly satisfactory, since 86% of the pollutants typified in E-PRTR have finally been linked to their corresponding elementary flow covered by at least one LCIA method (and usually by several). Thus, Amalur EIS is currently able to quantify the EI of the emissions linked to 78 of the 91 pollutants recorded and is only limited for the following 13 pollutants that are left out: hydro-fluorocarbons (HFCs) [#04], perfluorocarbons (PFCs) [#09], hydrochlorofluorocarbons (HCFCs) [#14], chlorofluorocarbons (CFCs) [#15], halons [#16], brominated diphenylethers (PBDE) [#63], organotin compounds (as total Sn) [#69], tributyltin and compounds [#74], triphenyltin and compounds [#75], total organic carbon (TOC) (as total C or COD/3) [#76], asbestos [#81], octylphenols and octylphenol ethoxylates [#87] and hexabromobiphenyl [#90]. Furthermore, these results are even more promising considering that only 7 of these 13 pollutants (namely, [#04], [#09], [#14], [#15], [#16], [#81] and [#90]) are reported by any facility in E-PRTR v18, which puts Amalur EIS at 92% effectiveness (see Fig. 1, which shows the scope of Amalur EIS v2024 for all 24 LCIA methods considered; red arrows show the scope variation when only the EF3.0 LCIA method is considered).

Figure 1 shows the scope of the tool in terms of its capacity to identify release flows. The area labelled *Analysable using Amalur EIS with openLCA LCIA Methods (v2.2.1) database* contains all the flows that Amalur EIS can analyse in at least one of the 24 LCIA methods considered. On the other hand, red arrows indicate which of these releases are not analysable in the specific case of the EF 3.0 LCIA method. As seen, Amalur EIS fails to analyse the impact of eight flows involving five pollutants ([#08],



Fig. 1 Scope of Amalur EIS v2024. Source: Amalur EIS

[#12], [#31], [#55] and [#82]). Most of these cases do not really constitute a limitation, as they are neither regulated nor reported. Pollutant [#08] into water is equally irrelevant, since it is not regulated, although it is reported, while pollutant [#12] into land could become a limitation, although it is true that no facility has reported it so far. Thus, pollutant [#82] into land is the only case that constitutes a real limitation, since it is a regulated and reported pollutant whose impact Amalur EIS is unable to calculate using the EF 3.0 LCIA method.

The final scope of the system in its current version (v2024) at the level of pollutants, media and LCIA methods is provided comprehensively in Table SM2 "Exhaustive scope of Amalur EIS v2024", under Supplementary Material.

Linking < medium E-PRTR > with < medium LCIA methods > In this case, there was no difficulty in identifying the medium, since the name matching between < medium E-PRTR > and < medium in LCIA methods > is straightforward, except in the case of the *soil* and *land* tags, which are very easily taken as equivalent, in any case.

Linking < environment E-PRTR > with < environment LCIA methods > The fact that LCIA methods assign CF to elementary flows according to medium and environment means that the quantification of the EI caused by the emission of a given quantity of pollutant into a particular medium varies depending on the environment in which it occurs. This being so, to complete the process of total and definitive unification of the E-PRTR and LCIA method domains, it was absolutely essential to correctly link this third and final element. However, it quickly became apparent that the challenge would be impossible to overcome by any simple means: no E-PRTR table contains any field that can be even remotely taken as equivalent to the concept of *environment*. Faced with such a scenario, the only plausible option was to establish a criterion that allows one and only one of all the possible flows associated with a particular pollutant and medium in its various environments to be associated with the emissions recorded in E-PRTR. For this purpose, an order of priority was defined as shown in the following hierarchy:

- Air: Unspecified>high population density>low population density>lower stratosphere+upper troposphere>indoor
- Land: Unspecified > industrial > agricultural > forestry
- Water: Unspecified > freshwater > river > lake > ocean > surface water

The *unspecified* environment was chosen whenever available. If not available, for the *air* and *land* media, it was assumed that industrial facilities tend to be located in *industrial* areas with a *high population density*. For the *water* medium, the *freshwater* environment was prioritised, following Sörme et al. (2016). A sensitivity analysis was carried out to evaluate the significance of using *unspecified* as the first option versus its use as the last option in the hierarchy. When calculating total impacts for all E-PRTR records using the EF 3.0 LCIA method after normalisation and weighting, this change resulted in an increase in total impacts of only 0.8%, allowing us to conclude that its effect is limited. Finally, it should be noted that the LCIA methods database takes a fourth medium *resource* into account, in addition to the three of *air*, *land* and *water*. This fourth medium is related to the elementary flows of the impact categories associated with resource depletion. Therefore, the E-PRTR releases were also linked to these elementary flows for their computation in the respective resource depletion impact categories.

Presentation layer construction process

When exploiting a database, it is advisable to build a presentation layer, that is, a user-friendly UI that abstracts from the data layer and focuses on the informational potential of the created system. In this regard, E-PRTR makes use of a shallow interaction interface through the European Industrial Emissions Portal (European Environment Agency, 2023a), but the data exploitation capabilities of this platform are highly limited.

In the case of Amalur EIS, a data exploration environment has been created with Tableau v2022 that allows the end users of the system to benefit from all the power of an information system via a simple, responsive and visually intuitive interface (see Fig. 2).

Results

Amalur EIS performs complex multidimensional analyses, yet the results are presented in a very visual and easily interpretable way, through coloured geographical maps or simple histograms. The information system itself and its usefulness as a tool is the main result of the work carried out. Moreover, from its usage, other results are derived, demonstrating the practical value of the tool. This is what is shown in the following sections, presenting a large number of use cases with remarkable results that show the potential of the software in response to particular queries. In most cases, the EF 3.0 LCIA method has been used. In fact, EF is the LCIA method proposed by the European Commission (2021) to measure and communicate the life cycle environmental performance of products and organisations. EF is an extensive method which covers 77 pollutants out of the 91 regulated by E-PRTR in a wide variety of impact categories (26 in total, related to *acidification*, *climate change*, *ecotoxicities* and *human toxicities*, *eutrophication*, *ozone depletion*, *particulate matter*, *photochemical ozone formation* and *resource use*). Thus, this section is divided according to the particular analyses conducted regarding release volumes, impact categories, activity sectors and geographical scope.

Findings related to release volumes

Before analysing LCA indicators, two facts must be highlighted, observed when using Amalur EIS directly on the basic metrics provided by E-PRTR. The first issue is shown in Table SM3 "Top 100 release outliers in E-PRTR" provided in the Supplementary Material, which ranks the 100 facilities with the highest volume of releases. In order to determine outliers within a sample, it is common to consider values below $q1 - 1.5 \times (q3 - q1)$ or above $q_3+1.5 \times (q_3-q_1)$ as outliers (where q=quartile). Analysing the records reported in E-PRTR database in this way, Amalur EIS detects 5.46% abnormal releases (30,028 outliers in 549,545 records of pollutant releases), of which the 100 given in Table SM3 are striking, since they are over 100 times greater than the median of pollutant releases reported in the period 2007–2021 by a single facility, taking only controlled reports into account (accidental reports have not been included in the analysis so as not to distort the results). It can be confirmed that the top 11 releases listed in Table SM3 exceed the median by thousands of times and can only be interpreted as reporting data quality errors, particularly the first two, whose order of magnitude is several million times the median. It must be taken into account that a non-negligible part of the data collected in E-PRTR may require corrections, as already pointed out by Dios et al. (2014) and Erhart and Erhart (2023). Moreover, Annex 4 of a Technical note recently published by the European Environmental Agency (2024) includes 228 corrections made to E-PRTR data concerning erroneous air release entries registered by 188 facilities. Of these corrections, 40% (specifically 88 of 228) had already been identified as abnormal releases by Amalur EIS using the aforementioned outlier assessment method based on quartile analysis, which identifies values that deviate markedly within a given sample. In fact, two erroneous releases reported by the EEA also appear



Fig. 2 Amalur EIS web site. Source: https://www.amalur-eis.eus/

in Table SM3: DJP—De HoopBV, with 1.26×10^8 kg of nitrogen oxides erroneously reported in 2021 (869 times the median), and ENIPOWER S.P.A.—Stabilimento di Brindisi, with 1.27×10^7 kg of nitrous oxide erroneously reported in 2020 (326 times the median). The other 86 cases identified by Amalur EIS also meet the condition of outliers, although they do not appear in Table SM3 because they exceed the median by less than 100 times. Amalur EIS detects other outliers that are not included in Annex 4. The facility EDAR EL PRAT DE LLOBREGAT ranks 7th in Table SM3 for a Simazine release in 2014 that is multiplied by ten but is missing in Annex 4, probably because it is a release into water. The facility ranking 11th, EXPLOTACIÓN PORCINA (UNIFICADO)

HERMANOS MATAS DE HUERTA S.L., presents an outlier methane release into air in E-PRTR that is clearly erroneous, as it does not appear in the Spanish PRTR. Another CO_2 release from BIZKAIA ENER-GIA, S.L. (a natural gas combined cycle) is not listed in Annex 4, although it is clearly erroneously reported as tenfold (PRTR España, 2024).

The second issue to highlight is that of trends over time. Notably, annual releases generally show a decreasing pattern, as indicated by the slopes of trend lines calculated from linear regression for each pollutant over the period 2007–2021 (refer to Table SM4 "2007–2021 E-PRTR Release Trend by Pollutant" in the Supplementary Material). However, we must be cautious before drawing hasty conclusions when interpreting the results of a large-scale data analysis. In this sense, it must not be forgotten that, while linear regressions with a *p*-value close to 0 will be highly accurate and predict with certainty the sustained evolution over time, those with a p-value close to 1 will be less accurate. Here, Amalur EIS is again a helpful tool, as it allows us to visualise the trend analyses performed (see Figure SM1 "Graphical extract of 2007-2021 E-PRTR releases trend by pollutant" provided in the Supplementary Material). This can be seen very clearly in the cases of carbon dioxide, nitrogen oxide or sulphur oxide releases into the air, whose *p*-value is $< 1 \times 10^{-4}$. In the case of toluene releases into water, the *p*-value increases to 1.87×10^{-3} , but the trend line still demonstrates a relatively high predictive capability. On the other hand, the predictive relevance of the trend lines with *p*-values > 0.9 is very poor, as in the case of atrazine or chlordecone releases into water, or toluene releases into the air.

Amalur EIS allows for analyses such as those described above at the facility, activity sector and geographic region level. An example of this process is provided in Figure SM10 "Düsseldorf total releases during the period 2007–2021" in the Supplementary Material. The chosen case refers to releases per pollutant reported in Düsseldorf (Germany) by facilities in the energy sector, grouped by sub activity and NUTS 3 region. The emissions are represented on their own scale for each pollutant, so the size of the coloured rectangles is comparable between different pollutants only vertically, but not horizontally. In addition, the figure illustrates how easy it is to access the data underlying the graphical views by rightclicking the mouse to activate the contextual menu. In turn, this data can be easily exported for post-processing through other third-party tools external to Amalur EIS, such as SQL, Excel, SPSS or QtiPlot.

Findings related to impact categories

The E-PRTR database allows us to consult isolated pollutant emission volumes but does not consider their combined impact. In contrast, Amalur EIS allows the user to total the impacts linked to the variety of pollutants that may be involved in each of the different impact categories. This is shown, for instance, in Table SM1 "Characterisation factors", containing all the CFs of the E-PRTR regulated pollutants in each of the impact categories in the EF 3.0 LCIA method, which considers up to 69 different regulated pollutants in the *freshwater ecotoxicity* impact category. Amalur EIS makes it possible to calculate the total environmental impact (EI) in any specific category associated with the emission of all pollutants registered within a facility, region or activity sector in the E-PRTR, for a selected range of years. As an example, Table 1 shows the total EI associated with each of the activity sectors included in the E-PRTR for the entire period 2007–2021, in each of the impact categories included in the EF 3.0 LCIA method.

The processing of the 549,545 releases from the 31,556 facilities of the E-PRTR during the period 2007-2021 allows us to estimate, for example, a total impact of 32.4 Gt CO₂ in *climate change*, 19.1 Mt Neq in eutrophication (marine), 220,000 CTUh in human toxicity or 499 t CFC11eq in ozone depletion. The energy sector leads the impacts not only in the *climate change* category but also in *acidification*, eutrophication, human toxicity (non-cancer), particulate matter and photochemical ozone formation. The intensive livestock production and aquaculture sector generates significant impacts in eutrophication (freshwater) (17% of the total) and eutrophication (terrestrial) (19%). The mineral industry accounts for 97% of the impact in ozone depletion and 47% in ecotoxicity (freshwater).

Another of Amalur EIS' potentialities is that it brings out divergences between different LCIA methods. For example, significant differences are observed between the *freshwater ecotoxicity* impact categories of EF 3.0 and USEtox 2 methods. Figures SM2 and SM3 in the Supplementary Material show the ranking for Spanish facilities (2007–2021) in the ecotoxicity (freshwater) category for the EF 3.0 and the USEtox 2 (recommended+interim) methods, respectively. The rankings differ significantly. The analysis of this specific case with our EIS shows that while impacts in USEtox 2 are dominated by copper and zinc compounds (87.1% and 7.2%) of total), no impact is assigned to chlorides, which account for 88.9% of total impacts in EF 3.0. These results are consistent with Sala et al. (2022), who state that USEtox 2 presents a dominance of metals and lacks robust fate modelling for non-organic compounds.

2F 3.0 M ethod (adapted) (ormalized impact values [Pt]	Total [Pt]	En ergy	sector	Producti process meti	ion and sing of als	Chemical	industry	Waste and water man	d waste- agement	Minerali	ndustry	Intensive . producti aquacu	livestock on and lture	Paper an producti proces	id wood on and sing	Anim: vegetable from the beverage	il and products food and e sector	O ther ac	tivities	Unspe activ	iffied ties
otal [Pt %]	1,23E+09	7,30E+08	59,46%	$1,40 \pm 0.8$	11,36%	1,14E+08	9,30%	8,10E+07	6,59%	7,52E+07	6,12%	4,12E+07	3,36%	3,28E+07	2,67%	5,99E+06	0,49%	5,25E+06	0,43%	2,70E+06	0,22%
cidification	9,22E+07	6,14E+07	66,58%	6,17E+06	6,69%	7,07E+06	7,67%	1,87E+06	2,02%	3,97E+06	4,30%	1,63E+06	1,77%	8,85E+06	9,60%	5,31E+05	0,58%	6,21E+05	0,67%	1,08E+05	0,12%
llimate change	8,43E+08	5,50E+08	65,23%	6,62E+07	7,85%	8,20E+07	9,73%	5,16E+07	6,12%	4,93E+07	5,85%	3,26E+07	3,87%	3,62E+06	0,43%	3,55E+06	0,42%	3,38E+06	0,40%	7,65E+05	0,09%
cotoxicity, freshwater	1,88E+07	1,43E+06	7,61%	2,27E+05	1,20%	3,57E+06	18,94%	4,25E+06	22,57%	8,90E+06	47,25%	1,63E+05	0,86%	2,18E+05	1,16%	5,31E+04	0,28%	1,49E+04	0,08%	6,00E+03	0,03%
urophication, freshwater	1,13E+07	1,25E+05	1,11%	1,39E+04	0,12%	1,23E+04	0,11%	8,55E+06	75,75%	2,55E+05	2,26%	2,13E+05	1,89%	1,88E+06	16,64%	2,27E+05	2,01%	1,03E+04	0,09%	2,11E+03	0,02%
urophication, marine	2,89E+07	1,20E+07	41,54%	1,27E+06	4,40%	3,09E+06	10,68%	8,54E+06	29,51%	1,50E+06	5,18%	9,32E+05	3,22%	1,21E+06	4,19%	1,85E+05	0,64%	1,45E+05	0,50%	4,24E+04	0,15%
urophication, terrestrial	3,73E+07	1,80E+07	48,34%	1,78E+06	4,77%	4,98E+06	13,36%	1,22E+06	3,26%	2,23E+06	5,98%	1,32E+06	3,53%	7,18E+06	19,26%	2,34E+05	0,63%	2,61E+05	0,70%	6,20E+04	0,17%
luman toxicity, cancer	5,16E+07	9,54E+05	1,85%	4,77E+07	92,34%	1,04E+05	0,20%	1,11E+06	2,16%	5,32E+05	1,03%	4,90E+04	0,09%	1,13E+06	2,19%	5,10E+04	0,10%	5,58E+03	%10'0	1,78E+04	0,03%
luman toxicity, non-cancer	1,44E+07	6,30E+06	43,80%	4,35E+06	30,28%	1,50E+06	10,46%	7,96E+05	5,53%	9,75E+05	6,78%	2,58E+05	1,79%	7,69E+04	0,54%	4,57E+04	0,32%	5,41E+04	0,38%	1,78E+04	0,12%
Dzone depletion	5,87E+05	3,37E+03	0,57%	4,32E+02	0,07%			9,69E+03	1,65%	5,69E+05	%16'96									4,68E+03	0,80%
articulate matter	7,88E+07	5,08E+07	64,49%	7,21E+06	9,15%	4,69E+06	5,95%	1,29E+06	1,64%	3,37E+06	4,28%	1,79E+06	2,27%	8,50E+06	%62,01	5,35E+05	0,68%	4,57E+05	0,58%	1,35E+05	0,17%
hotochemical ozone formation	5,17E+07	2,98E+07	57,59%	4,63 E+06	8,95%	7,19E+06	13,92%	1,72E+06	3,32%	3,56E+06	6,88%	2,25E+06	4,35%	1,67E+05	0, 32%	5,76E+05	1,12%	2,99E+05	0,58%	1,53E+06	2,97%
esource use, minerals and metals	2,54E+05	6,56E+04	25,84%	6,76E+04	26,64%	2,61E+04	10,30%	6,60E+04	25,99%	1,33E+04	5,24%	8,87E+03	3,49%	4,08E+03	1,61%	1,03E+03	0,40%	8,79E+02	0,35%	3,83E+02	0,15%

Table 1 Total impacts by activity sector in each impact category of the EF 3.0 LCIA method, for the 2007–2021 period. Total impact for each activity sector (Pt units and % in ţ

Source: Amalur EIS

Findings related to activity sectors

Using Amalur EIS, information has been obtained on the impact of the different activity sectors included in the E-PRTR in the various impact categories proposed by the EF 3.0 LCIA method. Two visualisation examples are provided in the Supplementary Material. Figure SM4 "Impacts of the E-PRTR during the period 2007–2021 by activity sectors in the eutrophication terrestrial category" shows a histogram dominated by the energy sector (with an impact of 8.58×10^{10} mol N eq out of a total impact of 1.78×10^{11} mol N eq for the period 2007–2021) and the intensive livestock production and aquaculture sector (with an impact of 3.42×10^{10} mol N eq). And Figure SM5 "Map of regional (NUTS 2) impacts for the category eutrophication, terrestrial in the intensive livestock production sector" shows that only the three regions with the highest impact, Lombardia in Italy, Cataluña and Castilla y León in Spain, account for 4% of the total impacts (all sectors) in the E-PRTR in this category.

The role of each sector in each impact category in the EF 3.0 method is gathered in Table 2, which shows the percentage of the total impact (line 1) corresponding to each activity sector, as well as the percentage contribution to the sector impact (line 3) of the main pollutant involved (line 2). The quantity of pollutants appears in the second header line (72 different pollutants for *freshwater ecotoxicity total*, 60 for *human toxicity [non-cancer] total* and so on).

Amalur EIS reveals that the dominant pollutants vary according to the activity sector. Although it is true that there are certain categories, such as *climate change (biogenic), freshwater ecotoxicity (metals), eutrophication (freshwater)* and *ozone depletion,* in which the main pollutant is always the same ([#01], [#20], [#13] and [#53], respectively), this is not the case in many other categories, the two most significant cases being *freshwater ecotoxicity (organics)* ([#01], [#07], [#32], [#40], [#67], [#71] and [#88]) and *human toxicity (cancer)* ([#19], [#21], [#47], [#50] and [#53]) which show notable variations depending on the activity sector.

Activity sectors show significantly homogeneous behaviour at the level of impact in the distinct categories. The energy and waste sectors prove to be the most polluting in practically all the EF 3.0 categories, while those related to food and animal products and paper and wood production are the least polluting ones.

Amalur EIS also allows endpoint impact analysis. As an example, Table 3 shows the impacts provided by the ReCiPe 2016 Endpoint (I) method in the area of protection of ecosystem quality. When comparing these results with those provided by EF 3.0 (normalisation and weighting, first row of Table 1), we observe that the energy sector remains as the one with the highest impact (63.8% of total impact in ReCiPe; 59.5% in EF). But changes occur in the following positions: the energy sector is now followed by the mining sector (with 9.7% of total impact; 6.1% in EF) and the production and processing of metals (7.0%; in second position in EF with 11.4% of total impact). The ranking also changes in the area of protection of human health (energy sector, first place; mining, second and waste management, third). This can be checked in Figure SM6 "Ecosystem impacts by category (ReCiPe 2016 Endpoint (I)) in each activity sector (2007–2021)" in the Supplementary Material which extends the scope of Table 3 to the three areas of protection (human health, ecosystem quality and resource scarcity).

Finally, Fig. 3 shows the 2007 to 2021 evolution of the impact of the nine activity sectors considered in the E-PRTR (plus those not specifically recorded), for each of the 12 main impact categories of the EF 3.0 LCIA method. The annual impacts in each sector have been normalised to the impact of each sector in 2007, except in the ozone depletion category, where normalisation is carried out with respect to the first annual data recorded. The vertical axes of the graphs for human toxicities (cancer and non-cancer), ozone *depletion* and *particulate matter* are interrupted to facilitate visualisation. The thicker lines correspond to the sectors whose impact amounts to more than 50% of the total. There is a general decrease in EI, although this depends on the specific activity sectors and the impacts considered in each case.

The graphs in Fig. 3 provide substantial trendlevel insights, generally indicating a decrease in impacts over time. The energy sector stands out as the most significant in impact terms, accounting for the largest relative contribution in 8 of the 12 impact categories analysed. Despite its prominence, this sector exhibits a consistent downward trend across several impact categories, including *acidification* (-87.4% from 2007 to 2021), *climate change*

		EF 3.0 Method (adapted)		tergy sector	as te and waste-water management	oduction and processing of metals	temical industry	incered industry.	tensive live study preduction and aquaculture	ther and wood production and processing	simal and vegetable products from the food and beve rage sector	ther activities	ispecified activities
mol H+	(3 poll) (noitsaili	bisA	66,6% #11 72,8%	2,0% #08 52,3%	6,7% #11 73,2%	4,3% #11 42,7%	7.7% 108 60,1%	9.6% #06 95,6%	1,8% #08 68,3%	0,6% #11 \$7,5%	0,1% #08 52,0%	0,7% #11 \$7,5%
kg CO2 1	10 poll) (la10	ı	65,2% #03 99,3%	6,1% #03 70,7%	7.0% #03 97.6%	5,9% #03 90,6% 1	9,7% #03 89,8% 1	0,4% #0.1 54,1%	3,9% #03 99,5%	0,4% #03 98,1% 1	0,1% #03 93,9% 1	0,4% #03 94,2% 1
kg CO2	(1 poll) (oinogoi	Climate c	5,4% #01 100,0%	55,3% #01 .00,0%	0,3% #01 100,0%	0,6% #01 100,0%	30,5% #01 00,0%	7,5% #01 00.0%	0,0% #01 100,0%	0,1% #01 100,0%	0,0% #01 100,0%	0,2% #01 100,0%
kg CO2 1	10 poll)	lisso	hange	65,2% #03 99,3%	6,1% #03 70,7%	7,9% #03 97,6%	5,9% #03 90,6%	9.7% #03 89,8%	0,4% #01 54,1%	3,9% #03 99,5%	0,4% #03 98,1%	0,1% #03 93,9%	0,4% #03 94,2%
tg CO2	(2 poll) (C	oznande U change bna seu bna	n n	5,9% #01 86,3%	51,6% #01 99,9%	4,9% #02 94,1%	0,9% #01 61,7%	29,3% #01 97,0%	7,0% #01 99,9%	0,1% #02 76,0%	0,1% #01 78,9%	0,0% #01 50,5%	0,2% #01 90,8%
D 24411	72 poll) (1	lato	T Ecoto	7,6% 9 #79 91,9% 9	#79 #79 03.6% 9	1,2% #79 75,2% 9	47.3% 4 #79 99,4% 9	18,9% 1 #79 94,8% 9	1,2% #06 69,5% 7	0,9% #79 75,2% 9	0,3% #79 91,4% 9	0,0% #07 79,2% 9	0,1% #79 70,9% 8
Ulaka CT	0 poll) (8	soinegrot	zicity (fre:	7,4% 1 #79 18,4% 5	2.0% 4 #79 9.8% 7	1,0% #79 15,2%	8,9% *	■ 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	1,1% : #06 *6,5% 9i	0,7% : #79 17,4% 7	0,3% (#79 18,0% 7	0,0% (#79 . 10,4% 6	0,1% (#79 14,3% 7)
Tate	8 poll) (5	etats	shwater)	5.3% 1 #20 5.1% 5	1,5% 3 #20 2,5% 6		4,0% : #20 2,3% 3	2,0% 3 #20 3,7% 9	7,3% t #20 6,3% 8	3,9% * #20 1,0% 8	0,9% 1 #20 6,0% 8	0,2% #20 1,7% 9	0,5% (#20 6,5% 6
Tatka a	4 poll) (1	soinsgr	D	11 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	6,8% 75 #32 # 4,1% 100	2,2% 0. #88 A 3,0% 100	5,0% 2, #32 9,6% 10	4.6% 0. #67 #	0,1% 10 #01 10 1,7% 10	5,5% 1. #40 A 8,5% 100	39% 2, #07 4 8,4% 10%	1,3% 0. #07 # 1,4% 100	0,3% 0. #71 A 6.9% 100
ig P kg	poll) (31	reshwater	Eutroph	,1% 41. 313 #1	5.7% 29. 913 #	,1% 4, 113 // // 89,	5, #1	,196 313 0,0%	0.0% 4.	,9% 3, 113 #.	,0% 0, 913 #- 0,0% 70.	,0% 0, 913 #-	,1% 0, 113 #
g N mc	poll) (21	anne	lication	.5% 48. 08 #	.5% 3, 12 #	4% 4, 08 #	2% 6, 08 #	7% 13 08 17% 92	2% 19 12 # ,6% 98,	2% 3, 08 #. ,0% 91.	6% 0, 08 <i>µ</i> . ,1% 84	,1% 0, 08 #- ,7% 98.	5% 0, 08 m .6% 67.
N IN CT II	ooll) (41 j	leitestial T _{ree} t		.3% 1.8 08 #4 .3% 46.	3% 08 .8%	8% 92, 08 #4 .7% 99,	0% 1.(08 #5 .8% 44.	0.2 #2 62,	3% 2.3 06 #4 8% 99.5	5% 0,1 08 #4 ,4% 36,	6% 0,. 08 #4 ,2% 95,	2% 0,0 08 #1 ,3% 74,	7% 0,6 08 #: 2% 32.;
blea CT1	poll) (6 p	into i	Can	9% 38,2 17 #2 39% 60,2	20 A L	3% 32.1 17 #1 1% 66.4	9% 7,1 13 #2 3% 56,2	9% 6,7 21 #2 39% 74,4	0,4 17 #2 5% 90;	9% 2,0 17 #1 79% 48,9	19% 0,2 47 #2 19% 44,2	1,1 9 #1 3% 96,0	9% 0,3 50 #1 89% 35,5
bites CTUB	oll) (35 pc	Organics	ter	2% 0,9% 21 #41 3% 96,1	1.9 2.4 2.4 2.4 2.4 2.4 2.4 2.4 2.4 2.4 2.4	1% 93.9 19 #4 1% 100.0	19% 0.9% 21 #55 49% 53,5	7% 0,0° 21 #4' 5% 80,2	196 2.21 21 #41 196 100.0	9% 0,0° 19 //4° 9% 78,7	296 0.11 22 #41 396 100,0	1% 0,0° 19 #5: 0% 48,2	3% 0,0' 19 µ5(9% 80.5'
the CTING	oll) (60 pc	Total	Human to	% 43.8 7 #80 % 52.2*	5,59 #80 34,49	% 30,31 7 #02 9% 62,9%	% 6,8% 3 #21 % 40,1%	% 7 %	0,59 #21 48,31	% 1,8% 7 #80 % 40,3*	% 0,3% 7 #80 0% 36,5%	% 0,19 3 #02 % 46,7	% 0,49 0 #80 % 43,49
to CTUb4	(10 po	inorganics	nticity No.	% 42,09 % 86,39	6 4,7% #80	% 34,1% #02 % 88,7%	6 5,9% #79 % 46,0%	% 10.25 #0.2	6 0,3% #80 % 78,59	6 1,8% #80 % 62,9%	6 0,4% #80 % 49,6%	6 0,1% #02 % 90,2%	6 0,4% 80 % 63,0%
ba CTUBA	II) (8 poll	Metals	n-cancer	% 47,8% #21 % 90,8%	5.9% #21 % 65,9%	% 24,4% #21 % 54,8%	6 8,2% #21 % 92,4%	6 10.65 89.452	6 0.7% #21 % 98,6%	6 1,7% #21 % 68,3%	6 0,2% #24 % 43,5%	6 0,0% #21 % 42,7%	6 0,3% #21 6 50,9%
of CTIBUE	(42 poll	Organics		10.11 10.1 10.1 10.1	42,1% #01 88,7%	1,7% #07 53,3%	8,4% #07 46,6%	22,5% #01 91,3%	5,1% #01 99,0%	2,3% #07 70,6%	0,9% #07 91,1%	4,0% #07 96,5%	0,3% #01
kg CFC11	(1 poll)	noitelqeb er	iozO	0,6% #53 100,0%	1,6% #53 100,0%	0,1% #53 100,0%	96,9% #53 100,0%	0,0% # 0,0%	0,0% # 0,0%	0,0% $\theta\theta$ 0,0%	0,0% ## 0,0%	0.8% #53 100.0%	0,0% #- 0,0%
disease inc. (k.o.	(5 poll)	iculate er	Part Part	64.5% #11 72.5%	1,6% #11 44,7%	97.9718 11.4 27.176	4,3% #11 41,4%	6,0% #11 41,7%	10,8% #06 93,3%	2,3% #86(10) 57,3%	0,7% #11 46,9%	0,2% #86(10) 55,9%	0,6% #11 64,2%
kg NMVOC	(11 poll)	ochemical e formation	10dq 10dq	57,6% #08 79,1%	3,3% #08 81,0%	8.9% #08 49,5%	6,9% #08 52,6%	13,9% #08 84,2%	0,3% #08 66,4%	4,4% #08 70,4%	1,1% #07 49,9%	3,0% #07 94,1%	0,6% #08 77,4%
kg Sb	(10 poll)	ls) erals and urce use	Reso (min) meta	25.8% #21 39.4%	26,0% #18 43,3%	26,6% #23 39,9%	5,2% #21 40,5%	10,3% #18 37,9%	1,6% #24 36,9%	$\frac{3,5\%}{\mu18}$ $\frac{3,5\%}{\mu18}$ 49,2%	0,4% #24 42,2%	$\begin{array}{c} 0,2\%\\ \#18\\ 40,0\% \end{array}$	0,3% #23 27,3%

 Table 2 Impacts (%) by category (EF 3.0) in each activity sector (2007–2021)

Source: Amalur EIS

Unspecified activities

The highlighted entries reflect the three cases with the highest percentage impact by category; dark gray reflects the case with the highest percentage impact, gray the next highest and light gray the third highest

 $\begin{array}{cccc} 0,0\% & 0,6\% \\ \#- & \#11 \\ 0,0\% & 64,2\% \end{array}$

ReCiPe 2016 Endpoint (I) (species.yr)	Total	Global warm	ning	Acidification	Ozone formation	Eutrophicati	on	Ecotoxicity		
		Freshwater ecosystems	Terrestrial ecosystems	Terrestrial	Terrestrial ecosystems	Freshwater	Marine	Freshwater	Marine	Terrestrial
Energy sector	21,982.66	0.31	11,267.85	8027.21	2674.61	4.82	0.08	0.39	0.04	7.37
Mineral industry	3356.92	0.05	1880.22	792.57	681.39	0.47	0.01	0.71	0.03	1.46
Production and processing of metals	2413.07	0.04	1327.94	808.96	261.52	0.53	0.04	0.47	0.06	13.50
Waste and waste-water management	2137.43	0.04	1431.85	215.19	154.81	329.53	2.61	2.73	0.13	0.53
Chemical industry	1748.85	0.03	1000.73	485.51	251.19	9.84	0.17	0.32	0.02	1.06
Intensive livestock production and aqua- culture	1307.09	0.00	125.00	1096.47	12.47	72.40	0.27	0.43	0.02	0.03
Paper and wood production and processing	1043.10	0.02	666.78	174.63	192.72	8.22	0.04	0.33	0.02	0.33
Animal and vegetable products from the food and beverage sector	185.92	0.00	73.12	66.43	37.52	8.77	0.02	0.02	0.00	0.05
Unspecied activities	176.61	0.00	70.35	79.27	26.43	0.40	0.01	0.01	0.00	0.14
Other activities	83.10	0.00	15.49	12.71	54.72	0.08	0.00	0.00	0.00	0.10
Total	34,434.75	0.49	17,859.32	11,758.94	4347.38	435.06	3.26	5.40	0.32	24.58
Source: Amalur EIS										

 Table 3
 Ecosystem impacts (species-year) by category (ReCiPe 2016 Endpoint (I)) in each activity sector (2007–2021)

🖄 Springer



Fig. 3 Evolution of EF 3.0 impacts by activity sector (2007–2021). Years refer to years of pollutant emissions. Source: Amalur EIS

(-48.4%), eutrophication (freshwater (-86.4%), marine (-74.6%) and terrestrial (-73.7%)), human toxicity (non-cancer) (-54.1%), particulate matter (-89.8%), photochemical ozone formation (-76.3%)and resource use (minerals and metals) (-67.1%). Other prominent sectors, such as production and processing of metals, mineral industry and chemical industry, also show declining trends in impact generation. However, there are notable exceptions. For instance, the energy sector shows increased impacts in *freshwater ecotoxicity* (+66.0%), while the paper and wood production and processing sector shows a moderate rise (+7.2%) in *climate change* impacts. Similarly, the intensive livestock production and aquaculture sector and the waste and waste-water management sector exhibit very significant but probably punctual increases in *human toxicity (cancer)*.

The Supplementary Material includes, as an example, two views of the data provided by Amalur EIS. Figure SM7 shows "Aggregated impacts of the activity sectors in the EF 3.0 impact categories", while Figure SM8 shows "Temporal evolution of the impact of the intensive livestock production sector in the eutrophication terrestrial category for the whole period 2007–2021".

Findings related to geographical scope

A geographical analysis using Amalur EIS, for the EF 3.0 LCIA method in its various impact categories, yields the data shown in the annexed Table SM5 "EF 3.0 top 10 facilities" and Table SM6 "EF 3.0 top 10 regions", provided in the Supplementary Material.

The top ten facilities in each impact category account for between 6 and 16% of the total E-PRTR impact, except for *freshwater ecotoxicity* (32.8%; with seven facilities accounting for between 2.7 and 5.9%), human toxicity (cancer) (95.6%; a single Bulgarian facility-Stam Treiding AD-located in the region of Югозападен accounting for 86% of total impact) and ozone depletion (adding up to 92.3%; with four facilities accounting for between 12 and 24%; along with three facilities in France exceeding 50% of the E-PRTR total impact). Except for these categories, no facility exceeds 5% of total impacts. In relation to regions, the combined impacts of the top ten NUTS 2 regions exceed 15.9% of total E-PRTR impacts in all categories (between 15.9 and 29.5%), except, once again, in *freshwater ecotoxicity* (55%; four regions in Germany account for 25.4%), human toxicity (cancer) (95.6%; dominated by the above-mentioned Bulgarian facility) and ozone depletion (92.3%; four regions in France exceeding 54% of the total). At this point, we must mention that the case of the Bulgarian Stam Treiding AD facility is included as a data referral error in Annex 4 of (European Environmental Agency, 2024), which recommends the elimination of said record from the table of releases contained in the E-PRTR v18 database. The only record of this facility in the E-PRTR is a 1000.92 kg PCDD+PCDF release to air in 2018, which is obviously erroneous and should be fixed in future updates of the E-PRTR database. It is also necessary to point out that the Amalur EIS development team has not fixed any release reporting error in the E-PRTR v18 database, as this type of corrective action is outside the scope of the present research.

When cross-checking the most pollutant regions and facilities, in 5 of the 12 categories in the EF 3.0 LCIA method, the facility with the highest impact is located in the region with the highest impact (human toxicities [cancer, non-cancer], acidification, ozone depletion and resource use). Düsseldorf in Germany is the top-impact region in four categories (climate change, freshwater ecotoxicity, human toxicity [non*cancer*], *photochemical ozone formation*); in another two, it is the Югозападен region, located in Bulgaria (human toxicity [cancer], acidification) and two others are regions in Spain (eutrophication [marine, terrestrial], Andalucía and Castilla y León, respectively; Figure SM5 shows the significance of the impact of the intensive livestock production sector in the different Spanish regions in the *eutrophication* [terrestrial] category); the rest are located in Norway (eutrophication [freshwater]), Serbia (particulate matter), France (ozone depletion) and Poland (resource use [minerals and metals]).

In the Supplementary Material, Table SM7 "EF 3.0 ranking of countries" and Table SM8 "EF 3.0 ranking of NUTS 2 regions" rank 32 countries and 306 NUTS 2 regions, respectively, that are covered by the E-PRTR. Countries and NUTS 2 regions are ranked by total impact after applying the normalisation and weighting steps provided by the EF 3.0 LCIA method. Results are provided as normalised points and as percentages of the total impact for the whole E-PRTR region. Table SM7 shows that only German facilities generate 20.25% of the total impacts, while, taken together, those from the UK (10.45%), Poland (9.65%), Spain (6.97%) and Italy (6.70%) generate 33.76%, with these five countries together accounting for more than 50% of total impacts. If Bulgaria (5.98%), France (5.74%), the Netherlands (4.98%) and Czechia (4.40%) are also taken into account, the impact of these nine countries exceeds 75% of the total. Our analysis of Table SM8 concludes that the 12 regions with the highest aggregate impact for the whole period 2007-2021 are Югозападен (Bulgaria, 3.92%; dominated by only two facilities, one of which is clearly erroneous), Düsseldorf (Germany, 3.55%), Köln (Germany, 2.93%), Brandenburg (Germany, 2.45%), Śląskie (Poland, 2.18%), Severozápad

(Czechia, 2.01%), Łódzkie (Poland, 1.60%), Zuid-Holland (Netherlands, 1.59%), North Yorkshire (UK, 1.46%), Югоизточен (Bulgaria, 1.39%), Derbyshire and Nottinghamshire (UK, 1.29%) and Sud-Vest Oltenia (Romania, 1.23%), with a combined share of more than 25%. It is noteworthy that these regions alone score higher than entire countries such as Ireland, Slovakia, Hungary, Estonia or Austria. Table SM9 shows that in those 12 NUTS 2 regions with the greatest impacts, the *climate change* category presents a contribution above the average, except in three cases: in Югозападен (Bulgaria), human toxicity (cancer) stands out (92%) due to an erroneous reporting, and in Югоизточен (Bulgaria) and Sud-Vest Oltenia (Romania), climate change drops to 46% while impacts in acidification and particulate matter are greater than 20% (averages are 7.5% and 6.4%, respectively). In addition, two Extra-Regio NUTS 2 areas present significant impacts on the sea. These areas are associated with the UK, ranking 54th out of 306 with an impact of 0.55%, and with Norway, ranking 94th out of 306 with an impact of 0.35%. Their impacts are higher than those of countries such as Slovenia (0.36%) and Switzerland (0.31%), respectively.

Table SM9 "EF 3.0 normalised and weighted impacts for countries and regions by impact category" shows that the dominant impact category is *climate change* (68.6% of the total in all E-PRTR), but with differences depending on the country. Among those with the highest total impacts, the Netherlands (88.8%), Germany (83.0%) and Czechia (79.4%) have an above-average impact in the *climate change* category. Others are below the average: Spain (55.8% in *climate change*) presents greater-than-average impacts in *acidification* (12.2% vs 7.5%) and *eutrophications* (12% vs 6.3%). In Bulgaria, *human toxicity* (*cancer*) impact is disproportionately high (60.5% vs 4.2%) due to an erroneous reporting.

In addition, the total sectoral impacts for the whole period 2007–2021 are shown in Table SM10 "EF 3.0 normalised and weighted impacts for countries and regions by activity sector". As noted before, the energy sector generates the highest total impact (59.5%), with a wide gap over the rest, as the following four sectors together account for less than 40% of the total impact: production and processing of metals (11.4%), mineral industry (9.3%), waste and waste-water management (6.6%) and chemical industry (6.1%). The weight of the energy sector is

particularly relevant in some countries, such as Estonia (93.7%), Serbia (87.2%), Greece (84.1%), Czech Republic (75.2%), Denmark (69.3%), Netherlands (68.7%), Cyprus (68.3%), Poland (67.7%), Germany (67.2%) and the UK (66.7%), where it exceeds the average value (59.5%). In these countries, the rest of the sectors in general do not differ much from the average values, with the exception of the mineral industry in Cyprus (25.8%), Denmark (14.9%) and Poland (12.7%), and the waste sector in the UK (13.7% vs 6.6%). Other countries, however, show a different sectoral behaviour. In France, where nuclear power is very significant, all other important sectors exceed the average values: production and processing of metals (16.2%), mineral industry (12.6%), waste and waste-water management (11.9%) and chemical industry (12.6%). On the other hand, in some other countries, the impacts derived from the intensive livestock production and aquaculture sector show values well above the average value (2.7%), as is the case in Norway (11.9%), Portugal (8.1%), Spain (7.9%), Romania (7.3%) and Italy (4%).

Discussion and conclusions

Amalur EIS allows us to analyse the environmental impacts derived from the emissions registered in the E-PRTR for the main industrial facilities in Europe. The use of the EF 3.0 LCIA method allows for the quantification of environmental impacts in a variety of impact categories-namely, climate change, ecotoxicity, human toxicities, photochemical ozone formation, acidification, eutrophications, particulate matter, ozone depletion and resource use (minerals and metals)-of a large number of facilities in different activity sectors, countries and regions. In addition, other LCIA methods can also be applied within the software, which may help to uncover divergences and complementarities between the different methods. While TRACI is promoted by the US Environmental Protection Agency, EF is promoted by the European Commission and provides a different geographic scope. Many methods incorporate the GWP100 metric for global warming, but IPCC methods also consider other metrics and time horizons. Some methods are more comprehensive (CML-IA, ReCiPe, EF, TRACI), while others are more specific, like IPCC (focused on *climate change*) and USEtox

(focused on *ecotoxicity* and *human toxicities*). While EPS is an endpoint method assessing economic damage, ReCiPe considers the areas of protection human health, ecosystem quality and natural resources at endpoint level. Combining insights from different LCIA methods can provide a broader understanding of environmental impacts. Results from one method can help validate findings from another, strengthening confidence in the results or highlighting areas where further analysis may be needed if results diverge.

The environmental impacts from all E-PRTR facilities calculated with the EF 3.0 method for the period 2007-2021 are dominated by four sectors of activity. The energy sector presents the highest impacts in the categories of *climate change*, *eutrophications* (marine, terrestrial), human toxicity (non-cancer), particulate matter and photochemical ozone formation. The sector of production and processing of metals takes first place in human toxicity (cancer) and resource use (minerals and metals). Meanwhile, the mineral industry sector leads in the categories of ecotoxicity and ozone depletion. The waste sector leads in the eutrophication (freshwater) category. It is worth noting that the intensive livestock production and aquaculture sector generates between 16 and 20% in two of the three eutrophication categories and between 10 and 11% in acidification and particulate *matter* (see Table 2).

Activity sectors generally show a decrease in environmental impacts over time. This downward trend is especially evident for the energy sector, which is the most significant contributor in 8 of the 12 main impact categories of the EF method. As a result of the decarbonisation policies promoted by the European Union, the energy sector shows substantial impact reductions from 2007 to 2021 that, for example, reach 48.8% in *climate change*, 87.4% in *acidification* and 89.8% in *particulate matter*. Other notable sectors, such as production and processing of metals and the mineral and chemical industries, also exhibit declining trends in impact generation.

The normalisation and weighting steps provided by EF 3.0 aggregate in a single indicator the total impact of E-PRTR facilities for all categories. This allows us to conclude that facilities in the five most polluting countries contribute more than 50% of the total impact (Germany, 20.25%; UK, 10.45%; Poland, 9.65%; Spain, 6.97% and Italy, 6.70%). Leaving aside the region of Югозапаладен (Bulgaria), where a facility with a serious data reporting error is located, the regions that account for more than 2% of the total impact are as follows: Düsseldorf (Germany), with 3.55% of the total impact and exceeding average values in three impact categories (*climate change*, 81.5% vs 68.6%; ecotoxicity [freshwater], 4.1% vs 1.5%; human toxicity [non-cancer], 2% vs 1.2%); Köln (Germany), 2.93%; Brandenburg (Germany), 2.45%; Śląskie (Poland), 2.18% and Severozápad (Czechia), 2.01%. In these five regions, the energy sector has by far the highest impact, all of them showing values above 50% going above average (59.5%) in four of them (Düsseldorf, 66.53%; Köln, 87.54%; Brandenburg, 87.92%; Severozápad, 83.45%). The impacts of the production and processing of metal sector are significant in Düsseldorf (20.61% vs 11.4% of the average value), while in the Sląskie region, the mineral industry (18% vs 9.3%) and intensive livestock production and aquaculture (7.37% vs 2.7%) stand out.

Without a doubt, these impacts are related to the economic structure of the regions. For example, the German regions of Düsseldorf and Köln have a high level of economic development, with per capita incomes in 2022 of 119% and 121% of the EU27 average, respectively (Eurostat, 2024). Furthermore, both are located in the state of North Rhine-Westphalia, in the west of the country, known for its high industrialisation. It is also a state historically linked to coal mining, along with other regions in the east of the country, such as Brandenburg. In fact, Germany is a country heavily dependent on fossil fuels, with 77.6% of primary energy consumption coming from fossil sources in 2023 (AG Energiebilanzen - Working Group on Energy Balances, 2024). Although coal has a decreasing relative weight, it still accounts for 17% of primary energy consumption, while industry accounts for 28% (ibid.). In fact, the state of North Rhine-Westphalia aims to be a national leader in the reduction of coal use by 2029 (Ministry of Economic Affairs, 2024). The performance of these regions in any case reflects the fact that the energy sector is strongly linked to climate change, as also reported in other works (Erhart & Erhart, 2023). In fact, the most important finding of our analysis is that the energy sector is the largest generator of impacts (59.5%), among which the climate change category is the largest (68.6%) contributor to the total impact.

The analysis of results has also validated the relevance and usefulness of Amalur EIS, consolidating this EIS as a comprehensive, multidimensional and user-friendly tool. Amalur EIS provides wide geographical coverage, as it includes the European countries reporting emissions to E-PRTR, and also provides disaggregated information at regional level and by exact location of the installations. Moreover, Amalur EIS' LCIA methods provide extensive coverage of reported emissions, reaching 92% effectiveness of pollutants registered in the E-PRTR. It currently contains data for the period 2007-2021 but may be updated in the future as the European Industrial Emissions portal makes more E-PRTR data available. The Amalur EIS website (https://www.amalur-eis.eus/) will make its data and derived environmental impacts easily accessible to everyone.

Unlike Amalur EIS, other software does not include LCIA methods for EI quantification (Dios et al., 2014; Overberg et al., 2023), and where LCIA methods are included (Erhart & Erhart, 2023; Sörme et al., 2016) they are more limited than Amalur EIS, which offers 18 LCIA methods (31 in fact, if we take into account the different versions of several of them). Applying multiple methods allows for cross-validation, enhancing the robustness of results and identifying areas that may require additional analysis. It also offers the opportunity to estimate numerous environmental impacts beyond the well-known and extensively used climate change impact category. Although this category is truly relevant (68.6% of total EF 3.0 normalised and weighted impacts of the whole E-PRTR) and the most prominent on the international environmental agenda today, tools such as Amalur EIS underline the relevance of others, such as acidification (7.5% of total impact), particulate matter (6.4%), eutrophications (6.3%) and human toxicities (5.4%). Many other impacts resulting from human activity are thus highlighted, the detailed information of which is very valuable for a multidimensional and integrated interpretation of sustainability. From a decision-making perspective, it can ultimately help to raise the importance of some environmental impacts that may not be as high on the public agenda.

The E-PRTR database is a well-founded information source, which has been improved over the years. However, the Amalur EIS construction process has revealed some opportunities for improvement. As noted, when analysing top releases, reporting data quality errors have been detected. This is consistent with other authors' conclusions (Dios et al., 2014; Erhart & Erhart, 2023; European Environmental Agency, 2024; Fikru, 2011) so correcting these errors and limiting future ones as much as possible would contribute to a more consistent E-PRTR database.

Beyond the data provided by E-PRTR, the EI information provided by Amalur EIS is relevant, both from the point of view of access to public information and for public decision-making. The importance of public access to environmental information was recognised by the United Nations Conference on Environment and Development (UNCED) in 1992 (United Nations, 1992) through Agenda 21 (UNCED, 1992) and Principle 10, which emphasises environmental information and public participation in decisionmaking. Again, we must underline the importance of E-PRTR in terms of public access to information on environmental pollution, and, in the same vein, the value of knowing the environmental impacts linked to such emissions as a step forward. Amalur EIS may also help strengthen the reputation of companies along the same lines as the E-PRTR does (Cañónde-Francia et al., 2008; Fikru, 2011). Additionally, Amalur EIS could also be useful in the public policy arena. It would contribute to more effective environmental policy, as it can identify diverse environmental impacts by geographical locations, types of emissions and sectors of industrial activity, among others. As a decision support tool at national or regional level, it also provides complementary information to sectoral environmental information systems (e.g. Cifrian et al., 2015).

Despite the extensive analytical scope of Amalur EIS, it is believed that the software could be complemented in the future to amplify its potential. Actually, the calculation of environmental impacts from diffuse air releases for year 2008 has been already implemented into our EIS software, although results will be analysed in a future publication. The inclusion of both socio-economic and demographic data is also foreseen. This information could consist of indicators such as population density, per capita income, income distribution inequality, industrial value added and industrial employment and productivity by activity sector at the European regional level. Finally, there is also the intention to add geographically located health-related data for cross-checking with impacts provided by Amalur EIS in the area of protection

of human health. The ReCiPe 2016 Endpoint (I) method, for example, provides an impact in human health of 2.77 million DALY for the whole E-PRTR record (geographical distributions are also available; total results are shown in Figure SM6, where once again the energy sector is dominant, with 63.0% of total impacts). Furthermore, the EPS 2015dx method incorporates impact categories in relation to specific diseases, such as asthma cases (Amalur EIS provides an impact estimation of 280 thousand person-year for the 2007-2021 period derived from the activity of the E-PRTR facilities), diarrhoea (impact of 511 thousand person-year) or YOLL (years of life lost, with an impact of 23.7 million person-year). Figure SM9 "Activity sector impacts (person-year) in EPS 2015dx categories", provided in the Supplementary Material, shows activity sector impacts in these and other EPS 2015dx categories. These areas of further improvement do not, however, detract from the functionality and analytical capacity of all data currently available on the Amalur EIS website.

In terms of empirical development and future research, we believe that Amalur EIS may contribute to progress in three areas, at the very least. Firstly, Amalur EIS can contribute to the evaluation of surpassing certain planetary boundary thresholds, in line with specific guidelines provided by the LCA framework (Sala et al., 2016). Thanks to its nature, it could be particularly helpful in the quantification of impacts linked to Novel Entities, a boundary whose "impacts on Earth system as a whole remain largely unstudied" (Richardson et al., 2023). Secondly, it is a useful tool for advancing in the field of environmental justice and ecological distribution conflicts. Amalur EIS' ability to geographically locate environmental impacts and associate them with certain activity sectors is valuable in this regard. Indeed, in the search for justice, facilities and/or economic activities that cause pollution are opposed by local people and civil society actors for their environmental and human health impacts (Temper et al., 2015). The information provided by Amalur EIS in terms of geographically located environmental impacts could contribute to transparency in such conflicts, as it relates industrial metabolism with impacts generated. Finally, the analyses provided by Amalur EIS can also be complemented with other types of socio-economic and demographic variables at the regional level. This combination of variables offers the opportunity to expand the field of action towards the integration of economic, health and environmental inequalities at the European level. This is a line of work that has been conducted thus far using information from the E-PRTR (Fernández-Navarro et al., 2017; Neier, 2021; Rüttenauer, 2018) and can now be extended with the help of Amalur EIS. In the same vein, other global emission registries could also be easily incorporated into this EIS (e.g. US TRI, Canadian NPRI, Mexican RETC, Australian NPI).

In conclusion, the main aim of Amalur EIS is to make all its data available to the academic community, policymakers, businesses and civil society. Its potential in terms of calculating industrial sectors' environmental impacts is enormous, which we believe makes it a very valuable tool for the transition towards sustainability, particularly given the challenges faced by Europe at this time.

Acknowledgements Thanks to Roberto García, without whose invaluable experience as a software architect it would have been impossible to build the website https://www.amalur-eis.eus/. Thanks to Miriam Blanco, to whose incomparable talent as an architect of beautiful things we owe the design of Amalur EIS' logo. Open Access funding provided by University of Basque Country.

Author contribution (A) Iñaki Sasia, (B) Gorka Bueno, (C) Iker Etxano (A) Wrote the main manuscript text and prepared tables and figures. (B) Contributed to aspects of the manuscript's approach from his experience as an engineer with expertise in LCIA analysis. (C) Contributed to aspects of the manuscript's approach from his experience as an economist with expertise in environmental justice. (A) (B) (C) Reviewed the manuscript.

Funding Open Access funding provided thanks to the CRUE-CSIC agreement with Springer Nature. This research was supported by the Department of Education of the Basque Government through grant IT 1567–22 Ekopol Research Group (UPV/EHU).

Data availability E-PRTR data: https://industry.eea.europa. eu/download LCIA data: https://www.openlca.org/lca-data/ Amalur EIS data: https://amalur-eis.eus/

Declarations

Competing interests The authors declare no competing interests.

Open Access This article is licensed under a Creative Commons Attribution 4.0 International License, which permits use, sharing, adaptation, distribution and reproduction in any

medium or format, as long as you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons licence, and indicate if changes were made. The images or other third party material in this article are included in the article's Creative Commons licence, unless indicated otherwise in a credit line to the material. If material is not included in the article's Creative Commons licence and your intended use is not permitted by statutory regulation or exceeds the permitted use, you will need to obtain permission directly from the copyright holder. To view a copy of this licence, visit http://creativecommons.org/licenses/by/4.0/.

References

- AG Energiebilanzen Working Group on Energy Balances. (2024). Evaluation tables of the energy balance for Germany. Energy data for the years 1990 to 2023. https:// ag-energiebilanzen.de/wp-content/uploads/2023/11/awt_ 2023_e.pdf
- American Chemical Society. (2023). CAS REGISTRY | CAS. https://www.cas.org/cas-data/cas-registry
- Arvidsson, R., Söderman, M. L., Sandén, B. A., Nordelöf, A., André, H., & Tillman, A. M. (2020). A crustal scarcity indicator for long-term global elemental resource assessment in LCA. *International Journal of Life Cycle Assessment*, 25(9), 1805–1817. https://doi.org/10.1007/S11367-020-01781-1/FIGURES/6
- Bare, J. (2011). TRACI 2.0: The tool for the reduction and assessment of chemical and other environmental impacts 2.0. Clean Technologies and Environmental Policy, 13(5), 687–696. https://doi.org/10.1007/S10098-010-0338-9/ TABLES/1
- Bare, J. C., Norris, G. A., Pennington, D. W., & McKone, T. (2002). Traci the tool for the reduction and assessment of chemical and other environmental impacts. *Journal* of *Industrial Ecology*, 6(3–4), 49–78. https://doi.org/10. 1162/108819802766269539
- Broughton, E. (2005). The Bhopal disaster and its aftermath: A review. Environmental Health: A Global Access Science Source, 4(1), 1–6. https://doi.org/10.1186/1476-069X-4-6/ TABLES/1
- Bünger, D. (2010). What's up and what's next in the arena of pollution control? The new E-PRTR as a tool towards innovative climate and environmental conservation approaches. *Journal for European Environmental & Planning Law*, 7(2), 177–199. https://doi.org/10.1163/16137 2710X525082
- Cañón-de-Francia, J., Garcés-Ayerbe, C., & Ramírez-Alesón, M. (2008). Analysis of the effectiveness of the first European Pollutant Emission Register (EPER). *Ecological Economics*, 67(1), 83–92. https://doi.org/10.1016/J. ECOLECON.2007.11.016
- CE Delft. (2023). Environmental Prices. https://cedelft.eu/ method/environmental-prices/
- Cifrian, E., Andres, A., & Viguri, J. R. (2015). Developing a regional environmental information system based on macro-level waste indicators. *Ecological Indicators*, 53, 258–270. https://doi.org/10.1016/J.ECOLIND.2015.02. 010

- Ciroth, A. (2007). ICT for environment in life cycle applications openLCA - a new open source software for life cycle assessment. *International Journal of Life Cycle Assessment*, 12(4), 209–210. https://doi.org/10.1065/LCA2007. 06.337/METRICS
- CML. (2023). CML-IA Characterisation factors Leiden University. https://www.universiteitleiden.nl/en/research/resea rch-output/science/cml-ia-characterisation-factors
- Danish Ministry of the Environment. (2005). Spatial differentiation in life cycle impact assessment-The EDIP2003 methodology. https://www2.mst.dk/udgiv/publications/2005/ 87-7614-579-4/pdf/87-7614-580-8.pdf
- Dios, M., Moran, M., Carrera, F., Pombo, C., Souto, J. A., Casares, J. J., Diaz, A., & Saez, A. (2014). PRTRval: A software tool for the validation of E-PRTR emissions data. *International Journal of Environment and Pollution*, 55(1–4), 22–30. https://doi.org/10.1504/IJEP.2014.065901
- Dios, M., Morán, M., Carrera, F., Sout, J. A., Casares, J. J., Díaz, A., & Macho, M. L. (2012). Evaluation of the E-PRTR emissions inventory: The Galician case. WIT Transactions on Ecology and the Environment, 157, 237– 247. https://doi.org/10.2495/AIR120211
- EPD International. (2023). Environmental performance indicators. https://www.environdec.com/resources/indicators
- EPLCA. (2023b). *ILCD International Life Cycle Data system*. https://eplca.jrc.ec.europa.eu/ilcd.html
- EPLCA. (2023a). EN 15804 reference package. https://eplca. jrc.ec.europa.eu/LCDN/EN15804.xhtml
- Erhart, S., & Erhart, K. (2022). Application of North European characterisation factors, population density and distanceto-coast grid data for refreshing the Swedish human toxicity and ecotoxicity footprint analysis. *Environmental Impact Assessment Review*, 92, 106686. https://doi.org/10. 1016/J.EIAR.2021.106686
- Erhart, S., & Erhart, K. (2023). Environmental ranking of European industrial facilities by toxicity and global warming potentials. *Scientific Reports*, 13(1), 1–23. https://doi. org/10.1038/s41598-022-25750-w
- European Commission. (2000). EUR-Lex 32000D0479 EN - EUR-Lex. https://eur-lex.europa.eu/legal-content/EN/ TXT/?uri=CELEX%3A32000D0479
- European Union. (2006). Regulation (EC) No 166/2006 of the European Parliament and of the Council of 18 January 2006 concerning the establishment of a European Pollutant Release and Transfer Register and amending Council Directives 91/689/EEC and 96/61/EC (Text with EEA relevance)Text with EEA relevance. https://eur-lex.europa. eu/legal-content/EN/TXT/?uri=CELEX%3A02006R01 66-20200101
- European Commission. (2021). Commission Recommendation (EU) 2021/2279 of 15 December 2021 on the use of the Environmental Footprint methods to measure and communicate the life cycle environmental performance of products and organisations. https://eur-lex.europa.eu/legalcontent/EN/TXT/?uri=CELEX%3A32021H2279
- European Environment Agency. (2023b). Industrial Reporting under the Industrial Emissions Directive 2010/75/EU and European Pollutant Release and Transfer Register Regulation (EC) No 166/2006 — European Environment Agency. https://industry.eea.europa.eu/download

- European Environment Agency. (2023a). European Industrial Emissions Portal. https://industry.eea.europa.eu/#/home
- European Environmental Agency. (2024). Technical note Estimating the external costs of industrial air pollution-Trends 2012–2021 — European Environment Agency. https:// www.eea.europa.eu/publications/the-cost-to-health-andthe/technical-note_estimating-the-external-costs/view
- Eurostat (2023). NUTS GISCO Eurostat. https://ec.europa. eu/eurostat/web/gisco/geodata/reference-data/administra tive-units-statistical-units/nuts
- Eurostat (2024). *Eurostat database*. https://Ec.Europa.Eu/ Eurostat/Databrowser/Explore/All/T_general?Lang=en& subtheme=t_reg.T_reg_eco&display=list&sort=categ ory&extractionId=tgs00006
- Fernández-Navarro, P., García-Pérez, J., Ramis, R., Boldo, E., & López-Abente, G. (2017). Industrial pollution and cancer in Spain: An important public health issue. *Environmental Research*, 159, 555–563. https://doi.org/10.1016/J. ENVRES.2017.08.049
- Fikru, M. G. (2011). Does the European Pollutant Release and Transfer Register enable us to understand the environmental performance of firms? *Environmental Policy and Governance*, 21(3), 199–209. https://doi.org/10.1002/EET.573
- Forster, P., Alterskjaer, K., Smith, C., Colman, R., Damon Matthews, H., Ramaswamy, V., Storelvmo, T., Armour, K., Collins, W., Dufresne, J., Frame, D., Lunt, D., Mauritsen, T., Watanabe, M., Wild, M., Zhang, H., Pirani, A., Connors, S., Péan, C., ... Zhou, B. (2021). The earth's energy budget, climate feedbacks and climate sensitivity. 923– 1054. https://doi.org/10.1017/9781009157896.009
- Frischknecht, R., & Knöpfel, S. B. (2014). Ecological scarcity 2013 - New features and its application in industry and administration - 54th LCA forum, Ittigen/Berne, Switzerland, December 5, 2013. *International Journal of Life Cycle Assessment*, 19(6), 1361–1366. https://doi.org/10. 1007/S11367-014-0744-Z/FIGURES/2
- García-Pérez, J., Fernández-Navarro, P., Castelló, A., López-Cima, M. F., Ramis, R., Boldo, E., & López-Abente, G. (2013). Cancer mortality in towns in the vicinity of incinerators and installations for the recovery or disposal of hazardous waste. *Environment International*, *51*, 31–44. https://doi.org/10.1016/J.ENVINT.2012.10.003
- Gouldson, A., Carpenter, A., & Afionis, S. (2015). Environmental leadership? Comparing regulatory outcomes and industrial performance in the United States and the European Union. *Journal of Cleaner Production*, 100, 278– 285. https://doi.org/10.1016/J.JCLEPRO.2015.03.029
- Hamilton, J. T. (1995). Pollution as news: Media and stock market reactions to the toxics release inventory data. *Journal of Environmental Economics and Management*, 28(1), 98–113. https://doi.org/10.1006/JEEM.1995.1007
- Hischier, R., Weidema, B., Althaus, H.-J., Bauer, C., Doka, G., Dones, R., Frischknecht, R., Hellweg, S., Humbert, S., Jungbluth, N., Köllner, T., Loerincik, Y., Margni, M., & Nemecek, T. (2010). *Implementation of life cycle impact* assessment methods data v2.2 (2010). https://ecoinvent. org/wp-content/uploads/2020/08/201007_hischier_weide ma_implementation_of_lcia_methods.pdf
- Huijbregts, M. A. J. (2016). ReCiPe 2016 A harmonized life cycle impact assessment method at midpoint and endpoint level Report I: Characterization.

- ISO. (2006a). ISO 14040:2006(en), Environmental management — Life cycle assessment — Principles and framework. https://www.iso.org/obp/ui#iso:std:iso:14040:ed-2: v1:en
- ISO. (2006b). ISO 14044:2006(en), Environmental management — Life cycle assessment — Requirements and guidelines. https://www.iso.org/obp/ui#iso:std:iso:14044:ed-1: v1:en
- IVL. (2023). EPS weighting factors version 2020d. https:// www.ivl.se/english/ivl/publications/publications/epsweighting-factors--version-2020d.html
- Joint Research Centre. (2023). *Developer Environmental Footprint (EF)*. https://eplca.jrc.ec.europa.eu/LCDN/EF_archive.xhtml
- Jolliet, O., Margni, M., Charles, R., Humbert, S., Payet, J., Rebitzer, G., & Rosenbaum, R. (2003). IMPACT 2002+: A new life cycle impact assessment methodology. *International Journal of Life Cycle Assessment*, 8(6), 324–330. https://doi.org/10.1007/BF02978505/METRICS
- JRC (2012). Characterisation factors of the ILCD Recommended Life Cycle Impact Assessment methods Database and supporting information. https://doi.org/10.2788/ 60825
- Khanna, M., Quimio, W. R. H., & Bojilova, D. (1998). Toxics release information: A policy tool for environmental protection. *Journal of Environmental Economics and Management*, 36(3), 243–266. https://doi.org/10.1006/JEEM. 1998.1048
- Koh, S. C. L., Ibn-Mohammed, T., Acquaye, A., Feng, K., Reaney, I. M., Hubacek, K., Fujii, H., & Khatab, K. (2016). Drivers of U.S. toxicological footprints trajectory 1998–2013. *Scientific Reports*, 6(1), 1–10. https://doi.org/ 10.1038/srep39514
- Kolominskas, C., & Sullivan, R. (2004). Improving cleaner production through pollutant release and transfer register reporting processes. *Journal of Cleaner Production*, *12*(7), 713–724. https://doi.org/10.1016/S0959-6526(03) 00057-X
- Mawdsley, I., Berglund, M., & Skårman, T. (2016). Suggestions for indicators based on emission data from the Swedish PRTR. https://naturvardsverket.diva-portal.org/ smash/get/diva2:1059634/FULLTEXT01.pdf
- Ministry of Economic Affairs (2024). I. C. A. and E. of the S. of N. R.-Westphalia. *Wirtschaft.NRW*. https://www.Wirtschaft.Nrw/En
- Neier, T. (2021). Austrian Air Just Clean for Locals: A Nationwide Analysis of Environmental Inequality. *Ecological Economics*, 187, 107100. https://doi.org/10. 1016/J.ECOLECON.2021.107100
- Nexus (2023). openLCA Nexus: The source for LCA data sets. https://nexus.openlca.org/database/openLCA%20LCIA% 20methods
- Nguyen, H. T., Aviso, K. B., Fujioka, M., Ito, L., & Tokai, A. (2021). Decomposition analysis of annual toxicological footprint changes: Application on Japanese industrial sectors, 2001–2015. *Journal of Cleaner Production*, 290, 125681. https://doi.org/10.1016/J.JCLEPRO.2020.125681
- NIST (2023). Home Page BEES 2.1. https://ws680.nist.gov/ BEES2/
- Nordborg, M., Arvidsson, R., Finnveden, G., Cederberg, C., Sörme, L., Palm, V., Stamyr, K., & Molander, S. (2017).

Updated indicators of Swedish national human toxicity and ecotoxicity footprints using USEtox 2.01. *Environmental Impact Assessment Review*, 62, 110–114. https:// doi.org/10.1016/J.EIAR.2016.08.004

- OECD (1996). General Distribution OCDE/GD(96)32 Pollutant Release and Transfer Registers (Prtrs) A Tool For Environmental Policy and Sustainable Development Guidance Manual For Governments Organisation For Economic Co-Operation and Development Paris 1996 29500 Document complet disponible sur OLIS dans son format d'origine Complete document available on OLIS in its original format. https://webdosya.csb.gov.tr/db/kstk/ icerikler/oecd-hukumetler--c-n-kilavuz-20190327074218. pdf
- OECD (2023). About the OECD. https://www.oecd.org/about/
- Overberg, F. A., Böttcher, P. C., Witthaut, D., & Morgenthaler, S. (2023). Emipy: An open-source Python-based tool to analyze industrial emissions in Europe. *SoftwareX*, 23. https://doi.org/10.1016/J.SOFTX.2023.101458
- Pistocchi, A., Dorati, C., Aloe, A., Ginebreda, A., & Marcé, R. (2019). River pollution by priority chemical substances under the Water Framework Directive: A provisional pan-European assessment. *Science of The Total Environment*, 662, 434–445. https://doi.org/10.1016/J.SCITOTENV. 2018.12.354
- PostgreSQL (2023). PostgreSQL: The world's most advanced open source database. https://www.postgresql.org/
- PRTR España. (2024). Inventario de instalaciones Inventario Completol PRTR España. https://prtr-es.es/Informes/Inven tarioInstalacionesIPPC.aspx
- Richardson, K., Steffen, W., Lucht, W., Bendtsen, J., Cornell, S. E., Donges, J. F., Drüke, M., Fetzer, I., Bala, G., von Bloh, W., Feulner, G., Fiedler, S., Gerten, D., Gleeson, T., Hofmann, M., Huiskamp, W., Kummu, M., Mohan, C., Nogués-Bravo, D., ... Rockström, J. (2023). Earth beyond six of nine planetary boundaries. *Science Advances*, 9(37), eadh2458. https://doi.org/10.1126/SCIADV.ADH2458
- Rosenbaum, R. K., Huijbregts, M. A. J., Henderson, A. D., Margni, M., McKone, T. E., Van De Meent, D., Hauschild, M. Z., Shaked, S., Li, D. S., Gold, L. S., & Jolliet, O. (2011). USEtox human exposure and toxicity factors for comparative assessment of toxic emissions in life cycle analysis: Sensitivity to key chemical properties. *International Journal of Life Cycle Assessment*, 16(8), 710–727. https://doi.org/10.1007/S11367-011-0316-4/FIGURES/9
- Rüttenauer, T. (2018). Neighbours matter: A nation-wide small-area assessment of environmental inequality in Germany. Social Science Research, 70, 198–211. https://doi. org/10.1016/J.SSRESEARCH.2017.11.009
- Sala, S., Benini, L., Crenna, E., & Secchi, M. (2016). Global environmental impacts and planetary boundaries in LCA. https://doi.org/10.2788/64552
- Sala, S., Biganzoli, F., Mengual, E. S., & Saouter, E. (2022). Toxicity impacts in the environmental footprint method: Calculation principles. *International Journal of Life Cycle Assessment*, 27(4), 587–602. https://doi.org/10.1007/ S11367-022-02033-0/FIGURES/4

- Shaddick, G., Ranzi, A., Thomas, M. L., Aguirre-Perez, R., Dunbar, M. B. N., Parmagnani, F., & Martuzzi, M. (2018). Towards an assessment of the health impact of industrially contaminated sites: Waste landfills in Europe. *Epidemiologia e Prevenzione*, 42(5–6 Suppl 1), 69–75. https://doi. org/10.19191/EP18.5-6.S1.P069.089
- Sörme, L., Palm, V., & Finnveden, G. (2016). Using E-PRTR data on point source emissions to air and water—First steps towards a national chemical footprint. *Environmental Impact Assessment Review*, 56, 102–112. https://doi. org/10.1016/j.eiar.2015.09.007
- Tableau (2023). Business intelligence and analytics software | Tableau. https://www.tableau.com/
- Temper, L., del Bene, D., & Martinez-Alier, J. (2015). Mapping the frontiers and front lines of global environmental justice: The EJAtlas. *Journal of Political Ecology*, 22(1), 255–278. https://doi.org/10.2458/V2211.21108
- Thant Zin, M. M., & Lim, S. R. (2023). A methodology to screen priority toxins in pollutant release inventories. *Journal of Environmental Management*, 341, 118068. https://doi.org/10.1016/J.JENVMAN.2023.118068
- UNCED (1992). AGENDA 21. http://www.un.org/esa/sustdev/ agenda21.htm.
- UNECE (1998). UNECE Convention on Access to Information, Public Participation in Decision-making and Access to Justice in Environmental Matters (Aarhus Convention). https://unece.org/environment-policy/public-participation/ aarhus-convention/text
- United Nations (1992). United Nations conference on environment and development, Rio de Janeiro, Brazil, 3–14 June 1992. https://www.un.org/en/conferences/environment/ rio1992
- United States Environmental Protection Agency (2023). What is the toxics release inventory? | US EPA. https://www. epa.gov/toxics-release-inventory-tri-program/what-toxicsrelease-inventory
- Varma, R., & Varma, D. R. (2005). The Bhopal Disaster of 1984. *Http://Dx.Doi.Org/*https://doi.org/10.1177/02704 67604273822, 25(1), 37–45. https://doi.org/10.1177/ 0270467604273822
- Von Der Assen, N., Müller, L. J., Steingrube, A., Voll, P., & Bardow, A. (2016). Selecting CO2 sources for CO2 utilization by environmental-merit-order curves. *Environmental Science and Technology*, 50(3), 1093–1101. https:// doi.org/10.1021/ACS.EST.5B03474/ASSET/IMAGES/ LARGE/ES-2015-03474P_0005.JPEG
- Zuo, A., & Wheeler, S. A. (2019). Maximising the use of national pollution data: Views from stakeholders in Australia. *Journal of Cleaner Production*, 222, 455–463. https://doi.org/10.1016/J.JCLEPRO.2019.03.029

Publisher's Note Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.